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ls Theycouldhardly .............. hoe grateful they felt.
\) expresses Y) express
Y) expressed ¥) expressive

Ps The part of speech of the word “microscope”isa/an............ .

\) verb Y) adjective Y) noun ¥) adverb
9, They threw arock ......... the window and broke the glass.

\) into Y) through Y) across ¥) along
€. They could hardly.......... how grateful they felt.

\) expresses Y) express Y) expressed ¥) expressive

®o The verb form of the word “familiaris ................. .

\) familiar Y) familiarity ~ Y) familiarily  ¥) familiarize
&. Barking dogs do not bite “ is an English ................ Itis a well-known saying that states a truth or
gives advice.

\) proverb Y) idiom Y) aspect ¥) inference

Y. We........ last Tuesday. We ........... here for over a week.
\) ‘ve arrived/ ‘ve been Y) ‘ve arrived/ were
Y) arrived / ‘ve been ¥) arrived / were

A Owing to the shortages in some building materials and labor ................. in some trades, the

building industry began to make more use of prefabricated.

\) scarcity Y) components  Y) cavity ¥) immunity
Q. Asthmaisacommon .................. In which the airways lining the lung became inflamed.
\) disease Y) diagnosis Y) patient ¥) recovery
le. In the past few months, our company director ................ More mettle than most industrialists

................. in an entire career.
\) had shown / have done Y) has shown / do

Y) showed / would do ¥) was showing / may have done

1. In Ethiopia, primitive farming practices of natural vegetation have transformed much of country’s

highlands................. barelandscapes. But all destroyed .........cc0..... €rOSiON.
\) into / by Y) above / of Y) for / with ¥) in / under

1P. Her voice had become .................... from shouting. Her last words were almost

inaudible.

\) hoarse Y) flexible Y) duplicate ¥) comprehensive
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1®W. As the tree was too high to climb, the mischievous boys ................ their ball

down only by throwing sticks at it.
\) could have knocked Y) will have to knock

Y) would have knocked ¥) were able to knock

IS, A combination ofimagination and determination...................... Peter..............

entirely new lines of research concerned with the way animals survive extreme envi-

ronmental conditions.
V) have allowed / being developed Y) allowed / to develop
Y) were allowed / to have developed ¥) will allow / to be developing

1®. This is a soft bed cover. It has feathers inside.

V) duvet Y) blanket Y) carpet ¥) wardrobe
1©. Tusually ccccovvveniinnnnnnns up at 4 a.m when my alarm clock goes off.
\) brush Y) go Y) get ¥) wake
[ they’d only known each other for two months, they got engaged.
V) despite Y) even though Y) in spite of ¥) evenif
IA. Why were there no buses yesterday? Maybe it was the snow or they.............. been
on strike.
\) most have Y) could not have 'Y) might have ¥) can’t have
19. It was a very good car and, the price was quite reasonable.
V) even enough Y) moreover Y) however ¥) otherwise

Pe. According to the label, this medicine dist provide them with long tresses in in short

time.
\) accelerate Y) donate Y) sort ¥) die
Pl. Harry’s son is eighteen, he is naturally .................... to drive a car.
) toold Y) sich old Y) so old ¥) old enough
[ if was too they; they decided spend the night at the foot of the moun-
tain.
V) Unless Y) So thet Y) Whether ¥) Since

P, The desks and the chairs are in good order and the floor is so clean. The room
\) should have cleaned Y) should have been cleaned

Y) must have been cleaned ¥) must have cleaned
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PIE. Jennifer likes .................... . Stamps. She has got already 65.
V) collecting Y) delivering Y) taking ¥) using
PO.It's getting quite ..................... I think it's going to rain soon.
V) windy Y) foggy Y) cold ¥) cloudy
P&, It's not a big problem becauseha .................... To have them before the school term.
\) mustn’t Y) needs not Y) doesn'tneed ¥) may not
PV.Hewas.............. to the hospital with acute appendicitis.
\) crashed Y) rushed Y) pressurized  ¥) activated
PAsAre you goingto ............ your house in London while you are aboard?
\) let Y) hire Y) sale ¥) dispose
P9, Professor’s ................. remarks caused him great embarrassment and he deeply regretted not

having prepared his lecture.

\) complicated Y) wise Y') resurgent ¥) malignant
We, My wife .............. the dinner, because I had already cooked it.
V) didn’t have to cook Y) would cook
Y) may have cooked ¥) needn’t have cooked
). Theslaveryissuewas........... onereason............ the northern and southern states fought against

each other during the US Civil War.

V) thus/in that Y) only/why
Y) moreover/that ¥) as much/whereas
9P, We have considered your proposal thoroughly; ........... we are afraid to tell you that we cannot
accept it.
\) however Y) furthermore Y) otherwise ¥) despite
919, There are no empty seats on this flight, but thereare ............... available on the next one.
\)afew Y) a great deal Y) alittle ¥) alot of
9{S,Chemicals should be banned since they are ..................... to the environment.
\) continuous Y) ambiguous Y) adventurous ¥) hazardous
Q. She bought the chairs that ................ perfectly with the decoration.
\) consulted Y) ran away Y) matched ¥) turned
0¢ . If you are trying to build muscle, you should measure your ............ of muscle to fat.
\) aspect Y) ratio Y) cycle ¥) trend
19V, The police officer was hurt while he was................ the criminal down the street.
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V) cheering Y) chasing ) skill ¥) practice

WAe .o the scientist, the engineer is not free to select the problem that interests him; he must

solve problems as they arise.

V) That unlike Y) Dislike Y) Alike ¥) Unlike
W9, Theylive ............... far from the city center that they have to take a bus to go shopping.
\) too Y) enough Y) very ¥) so
oo oo Edward always did well on his English tests, his parents were not surprised that he got
anA.
\) Because of Y) Since Y) Although ¥) Whether
I€). While there are many hypotheses about Atlantis, but the vast majority of scientists ............. At-
lantis never existed.
\) conclude that is Y) conclude that
Y) That conclude ¥) they conclude that
1€V, Since Tom never wears shoes, itwas ............... that he would get a piece of glass in his foot.
\) Fashionable Y) profitable
Y) capable ¥) inevitable
€W, Asaresultof.................... an item that used to cost eighty cents now cost on dollar and fifty
cents.
\) instruction Y) inhibition
Y) inflation ¥) inspection
€IS, Positive thinking can be helpful, but when ................. by a realistic assessment of a person's

situation, it can also be harmful.

V) it has not balanced Y) not balanced
Y) it did not balanced ¥) not balancing
€D, My cousinisam) ................... writer. Her stories have appeared in several publications and sold
thousands of copies.
\) adventurous Y) flexible
Y) reputable ¥) reasonable
€&, Some peopleare .................... To become rich over a night by winning the lottery or playing
the stock market.
V) lucky enough Y) enough lucky
Y) luckily enough ¥) enough of luck
€Y. Unfortunately, the new book failed to satisfy the .............. Of the readers.
\) offers Y) masterpiece Y) affairs ¥) expectation
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IEA. If my friend ..........c........ a million dollars, he would certainly start his own business.
\) would win Y) wins Y) won ¥) has won
€9, Therewas .................... money that the robber couldn’t carry it all.
V) so much Y) too much Y)onlyalittle  ¥)enough
Ooo .............. One of the first countries to close its borders, Taiwan showed low numbers of COVID
-19 deaths in March.
V) That it has been Y) Having been
Y) It has been ¥) To have been




0Ly 2l A Y lgrdcaa e
Gl | Jlow | Gy | Jlg | Gy | Jlgw
YOl sy | of vy | oy |
ey | e |y | v |y
voler | v | vw| v | ¥
y | fe |y [ ve | v | ¥
v [ vo| f | vol| ¢ | o
T I 7 B IR 7 I
v |y | vw ]| v | v
Y LSA |y [ yA | Y | oA
volsa e | va |y | oA
Yol o | ¢ | v | ¥ |
Yoy | oy |
T R G 2 R Y ¢
Vol ovr | g |y
f ol ove | v |
v olya | v |
vy | vs | ¢ | s
Yo vv | v |
ol va | v | A
gl ya | v [
Yo g | v | v

v=3lo






